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ABPC ToEIIY 0% Hohk 0% | 0% 100%[100%] 0% 0% |100% 100%| 50% | 0% | 0% | 33%  50% | #= | 0% Hohok Hohk wr | 0% | 0% | 0% wok | 43% | 0% | 100%| 67% | 64% | 100%| 50% | 100% | 100% 100%| #+= [ 13% | 18% | 14% 75% | 100%| 0% | 71% | 100%
ACV FEFVIII/ISTSUR 0% | 0% | 0% = |100% 100% = | 0% |100%|100% | 50% | 94% | 67% 0k | 50% | st | Q% | 0k | sbex | ook bk | skk | ek | ek | 0% | 100% 100% 100% 77% | % | 95% | s« |100% 100% ¢ | 13% | 4% | 0% @ » |100% =  80%  100%
AMPC TEFIIIY 0% | 0% 0% | 0% w0k | 88% |100%| 0% ok ok ok ook wox | 100% | o ok ol ol ok ook ok ok wx | 0% 0% 0% ook x| 67% | wx | 35% | 0% wx | 50% | 0% | 4% 2% | 20% | xxx  100% kx| 76% | wxx
RIS MPIPC FEHI) sk sk sk sk sk sk sk sk Kk sk sk sk *k Kok Kk sk Kok Kk sk *k Kk Kk Kk *k Kk Kk sk sk sk sk Kk Kk Kk sk Kk Kk sk 0% Kk 0% sk 0% Kk
- PCG RUTIR=IY sk | ek | e | sk | 100% | 94% | ek | wex | 100%|100% | 50% | 0% | 0% | 29% | 50% | wkx | ek | kx| sk | sk | ek ek ok | ek | sk | owek 100% | 67% | 51% | 100% | wex | sk | sk | sk | ek | sk sk | 14% | 75% | 100%| 0% | 71%  100%
PIPC ERSIIY [100%| 0% | 91% | 92% 100% 88% | 80% | 83% | 100% 100% 100% 67% | 56% |100% 50% | 0% |100% s | x| xx | 100%| 50% | 0% | 100%| 76% | 65% |100% | 100% | 33% 100% 48% | 67% 100%| 0% | 0% | 70% | 73% | 9% | 0% 100%| 0% | 60%  100%
SBTPC 2= *okk *okk 0% *okk *okk 75% *okk 0% *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk 0% 100% 100% k% *okk 50% *okk 56% *okk *okk *okk *okk 33%  12% *okk *okk *okk *okk 86% *okk
T/P SINIIL/ERZIIY 100%| 0% | 93% |100%|100% | 87% | 60%  83% 100% 100% 100% 100% 100%|100%|100% 100% 100% #xk | sk | s | 100% 100% 100% 100% 96% @ 92% | 100%|100% | 28% | 100%  97% |100% |100% #= |100% 75% | 81% | 8% | 0% |100%| 0% | 56% 100%
CAZ EPZBPIN 92% | 0% | 94% | 92% @ #xx | 71% | 75% | 100% | w0x | sk | wex | sk | sex | 0% | ke 100% ek | sk | omek | sk 100%| 0% | 100% | 100%  96% | 84% | wxx | wkx | 15% | ek | 67% 100%| x| 100%| 0% | 72% | 75% | wkx | wwx ek | wex | 0% | wek
CCL o700l 0% 0% 0% Kk w0k | 100% | kxk Kk Kk Kk Kk Fwk bl 29% Fxk Kk ‘ 0% *xk Fwk Kk Kk Kk x| 100%| 0% | 64% Kk Fxk 63% Fxk 53% ok ‘100% 100%| 0% | 20% @ 3% ‘ 0% Kk ‘ 0% sk 0% *k
CDTR tTIIRLY ERFUIL 0% *okk 0% *okk *kk | 100% @ wwk ‘ 0% *okk *okk *okk *okk *okk 20% *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk 75% | 100% @ % *okk 67% *okk 54% *okk *okk 50% 0% 56% | 63% *okk *okk *okk *okk 0% *okk
CEX LIrPLFIY sk sk sk *kk *kk 79% bk *kk bk ok ok s,k s,k s,k s,k s,k s,k sk s,k s,k s,k s,k s,k s,k *okk *okk ook ook 48% ‘ 0% *okk *okk *okk *okk *okk *okk *okk ‘ 0% ‘ 0% ‘ 0% ‘ 0% 0% s,k
CEZ 2 IDP] 0% | 0% | 0% | 0% | = | 88% | 0% | 0% | #xx | ek | sokx | ek | wex | 33% | wek | kkx | 0% | vk | k| xx | 0% | 0% | 0% | 0% | 4% | 79% | x| wx | 47% | 0% | 56% | 100%|100%| 0% | 0% | 6% | 2% | 0% 0% | 0% | 0% | 0% =«
CFDN €IV | 0% @+ | 0% | #x | wx 100%| 0% | 0% | wkx | mkk | ek | ek | sk | 20% | kx| 0% | 0% | otk | wkx | sk | ek | ok | sk 100% | 40% | 100% | ek | sk | 68% | kx| 54% 100%  xkx | 100%| 0% | 40% | 13% | wtx | ek | ek | sk | 0% | ek
CFIX R EEIIN *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk 0% *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk 43% *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk 0% *okk
CFPM tIIEL 0% | 0% | 93% | 100%| *#x | 98% 100% 100% | xk | sk | ook | ok | sk | 25%  wkk | wkx | 100%| ek | wek | wkk | 100% | ek | 100% | 100% | 80% | 86% | sk | sk | 59% | 0% | 53% | 100% 100% 100% kx| 96% | 91% | 0% | 0% | 0% | 0% | 0% | x
CFPN twIARY 0% | 0% | 0% | 0% 100% 97% | 0% | 0% 100% 100% 50% | 6% | 0% | 14%  50% | 0% | #tx | sxx | sk | x| 0% | 0% | #x | 100% 85% | 77% |100% 100% 66% *xx | 66% |100% #x  67% | 0% | 62% | 80% | 0% @ == | 0% | *== | 0% 100%
CFT™M T IFSLERFUIL 0% Kk 0% Kk w0k | 100% | kxk Kk *k sk Kk Kk Kk Kk sk *k sk Kk Kk *k Kk Kk Kk s | 100%  50% Kk Kk 68% bl 41% Fwk #xk | 100% *xx 33% 100% | *x* Fwk sk sk 0% sk
CFX ‘t’jj‘iF:J;-) skeksk skeksk skeksk skeksk skeksk skeksk skeksk skeksk skeksk skeksk skeksk skeksk skeksk skeksk skekk skeksk skeksk skeksk skeksk skeksk skeksk skeksk skeksk skeksk skeksk skeksk skeksk skekk skeksk skeksk skeksk skekk skekk skekk skeksk skeksk skeksk skeksk skeksk skeksk skeksk O% skeksk
CMNX IO ok ok ok ok ok ook ok ok ok ok ok ok ok ok ok ook ook ok ok ook ok ok ok ok ok ok ok w0k | 100% | ok ok ok ok ok ok ok ok ook ok ok ok ok
CMX TIX/FIL *okk *okk 33% 100% | *xx | 100%  *xk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *kx | 100% 50% *okk *okk 88% *okk 64% *okk *okk *okk ‘ 0% 80%  50% ‘ 0% *okk ‘ 0% *okk 0% *okk
PTAR cMz LIXFI-I 0% | 0% | 0% | 0% 100% 81% | 50% | 0% |100% 100% 50% |100%| 33% 100% 50% | 0% | 0% | #x | #x s | 0% | 0% |100% 100% | 46% | 93% |100% | 100%| 26% | 0% |100% 100% 100%| 0% | == | 9% | 8% | 0% | 0% | 0% | 0% | 0%  100%
™ CPDX EIRRFULTOFEFIL | 0% | =+ | 0% | 0% | = | 92% |100%| 0% @ x| wex | sokx | ek | owex | 14% | ek | 0% | kx| omek | ek x| 0% | 0% | %k 100% | 43% | 77% | x| wex | 49% | wkx | 68% | 100% | 100% 100%  wkx | 65% | 60% | mex | ek owex | sk | 0% | ek
CPR ordh ok Kok ok ok ok ok ok Kok Kok ok ok ok ok ok ok ok ok ook ook ok ok ook ok ok ok ok ok ok ok ook ok ok ook ok ok ok ok ok ok ok ok 0% ok
CPZ TIARTI Y 100% | **x 50% *okk *kx | 100% kxk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *kk | 100% kxk *okk 30% *okk 63% *okk *okk *okk *okk 20% 100% | kxx *okk *okk *okk 0% *okk
CTM EIAFTL 0% @ ®x | 0% | 0% | »x | 86% | 25% | ok | eck | ook | ek | ek | bk | 50% | ke | sk | ke | ek | ok | mkk | ek | ek | 0% | 100%| 38% | 85% | k| sk | 53% | 0% | 56% | 100% 100% 100% | ¢ | 41% | 15% | 0% | 0% | 0% | 0% | 0% | x
CTRX EIRIPEYY 0% | 0% | 69% |100% 100% 98% | 60%  100%|100% 100% 100%| 56% | 22% | 25% 50% | 0% | *#x | sxx | s | x| 0% | 0% | 0% |100% 92% | 85% |100% 100% 53% | 0% | 65% |100% 100% 100%| 0% | 71% | 69% | 0% | 0% | 0% | 0% | 0% 100%
CTX CIAIFIL sk | ok | 0% | ek | 100% | 96% | kx| s 100% 100%  100% | 56% | 22% | 20% | 50% | ek | wek | ek | e | ek | ke ek sek | sk | 100%| 60% 100% 100%  65% | xxk | 67% | ek |100% 100% x| 67% | 56% | wex | kx| sk sk | 0% | 100%
CXD tooxyIy *okk *okk *okk Fokk Fokk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk 50% *kx | 100% kxk *okk *okk *okk *okk *okk *okk *okk *okk *okk 0% *okk
CXM LinESIIN s,k kokk ‘ 0% s,k Kok ‘ 100%  #%x s,k kokk kokk kokk s,k s,k Kok s,k s,k kokk kokk s,k kokk s,k s,k s,k ‘ 0% s,k *okk *okk *okk 56% ok 45% *okk *okk *okk *okk *okk 0% *okk *okk kokk sk 0% kokk
CzopP wIAVTISY ‘ 0% sokk ‘ 100% | *xx ok ‘ 100% ‘ 100% | *xx sokk ok ok sokk sokk ‘ 0% sokk ‘ 0% ‘ 100% | *xx sokk ok sokk ‘ 100% | *xk sokk ‘ 100% ‘ 57% sokk sokk 45% *okk 50% ‘ 100% | *kx *okk ‘ 0% ‘ ‘]00%‘ 82% *okk *okk *okk *okk 0% *okk
CZX TIFIFIA Kok ok Kok ok ok ok ok ok ok ok ok ook ok ok ok ok ok ook ook ok ok ook ook ook ok ook ok ok ok w0k | 50% | ot ook ok ok ok ook ok ook ook ok ok ok
FMOX JOEFED [ 0% | == [ 0% | 0% |100% 94%  60% | 0% |100%|100% 50%  94% | 78% | 50% |100%| 0% | 0% = | sxx | = | 0% | 0% |100% 100%| 73% |100% 100% 100% 59% | *= | 69% 100% 100% 100%| 0% | 49% | 27% | 0% A * | 0% | == | 0% |100%
LMOX SHYEFET ok ok ok ok ook ook ok ook ook ok ook ook ook ook ok ook ok ok ok ok ok Hohk ok ok ok ork *kk wkk | 1T7% | wxx ok ok ok ok ook ook ok ok ok ok ok ok ok
S/C WIS L/ETARSIY  [100% 100%  100%  100% | 100% | 100% | 60% 100% 100%|100% | 100% 94% 100% 100%|100%| 0% | 100% xxx | sx | sxx | 100% 100% 100% 100% | 100% | 92% | 100% 100%| 37% | #= | 98% | 100% 100% #xx | #xx |100% 97% | 0% @ *x | 0% | == | 0%  100%
T/C G INOH L/ ETROYY sk sk ‘ 100% ‘ 100% | *xk sk Kk ‘ 100% | *xk Kk sk *k sk sk sk Kk Kk sk Kk sk sk *k sk sk sk ‘ 100% | *xx sk *k *k ‘ 98% sk sk sk Kk ‘ 100% ‘ 92% *k *k Kk sk sk Kk
AZM FI2OYMIY *okk *okk *okk *okk *okk 27% *okk *okk *okk *okk *okk *okk *okk 20% *okk *okk kx| 100%  100%  100% @ skx *okk *okk *okk *okk *okk *okk *okk 17% ‘ 0% *okk *okk *kx | 100% kxk *okk *okk 0% ‘ 0% 0% ‘ 0% 0% *okk
2 HO0SAR% CAM 032091V s,k Kok Kok Kok Kok 35% Kok kokk Kok Kok Kok kokk kokk 86% Kok kokk xk¢ | 100% | 98% | 100% | xxx kokk kokk *okk *okk *okk ook ook 25% ‘ 0% *okk bk kx| 100% | %k *okk *okk 0% ‘ 0% 0% ‘ 0% 0% s,k
" EM TURORAIY wok | ek | oo | sk | 100% | 61% | ke | wex | 100%|100% | 0% | 0% | 0% | 100%| 0% | wex | x| 100% 100% | 100% | x| sk | wkx | sk | sk | owek | 0% | 33% | 33% | tex | mex | k| x| 0% | ek | owex | ek | 0% | kx| 0% | x| 10% | 100%
RXM 020919 Kok Kok ok Kok ok ok ok Kok ok ok ok Kok Kok Kok Kok Kok Kok ok ok ok ok Kok Aotk ok ok *kk *kk w0k | 20% | wx ok ok ok ok ok ok ok ok ok ok ok ok ok
DOXY RE¥or101) 100% | *xx | 100% ‘ 100% | *xx ‘ 100% | **x ‘ 100% | *kx *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk ‘ 100% ‘ 100% | *xx *okk 95% ‘ 100% | 83% *okk *okk 0% *kx | 100% ‘ 80% ‘ 79% ‘ 75% ‘ 61% ‘ 100% | 60% *okk
FrSHAUTFR | MINO S0 93% | 100% 100% | 100% | 100% | 100% 100% 83%  100% 100% 100% 89% | 100%|100% | 100% 100% 100% | 100% | 85% |100% 100% 100% 100% 67%  89%  99% | 100%|100% | 96% 100% 95% |100% | 100% 67% 100% 96% | 92% @ 77%  75% | 44% |100%| 44% 100%
TC ThIHAIOUD 0% kx| 100% kxk *okk *okk *okk *okk *okk *okk *okk *okk *okk ‘ 100% | *xx *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *kx | 100% kxk 75% *okk *okk 0% ‘ 0% 100% &  *xk *okk *okk *okk *okk 0% *okk
ABK TIVRADY Kk *k sk sk sk sk sk sk Kk sk sk sk *k sk sk sk sk Kk *k sk Kk sk Kk *k Kk Kk Kk Kk sk ‘ 0% Kk *k Kk Kk Kk Kk sk ‘ 0% ‘ 0% ‘ 0% ‘ 0% 0% Kk
AMK FPEAIY [ 8% | 0% 100% 100% | xxx | stx [ 100% | 100% | sk | sk | kx| ek | kx| gk | oxek | 0% | ek | wekx | sk | oxex | 100%| 100% | 100%  100%  100% | 98% | #xx | mex | sk xkx | 96% | 100%|100%| 0% | 100% 100%|100% | 0% @ #xx | 0% | *xx | 0% | o«
DKB IRNAI s,k xkk | 100% | xxx s,k sk sk s,k s,k s,k sk s,k sk s,k s,k s,k kokk s,k s,k s,k sk s,k s,k xk¢ | 100% | 100% | *xxx s,k 50% s,k 80% s,k Kok s,k xk¢ | 100% | 100% | *xxx s,k s,k s,k 0% s,k
PI/UUIVRER | GM IR 0% | # | 94% [100%| =+ | 0% |100%| 75% | #xx | sex | sk | ek | wex | 100% %% | 0% | 100%| =0 | sk | xx | 100%| 100% | 100%  100% 100% 100%| #xx | =« | 86% | 0% | 87% | 100%|100%| 0% |100% 100%|100%| 0% | 0% | 0% | 0% | 0% =«
ISP 1ENT1I ‘ 0% #xk | 100% *xx Fokk ‘ 0% ‘ 100% ‘ 100% | #*x Fokk Fokk Hokk Fokk Fokk Fokk ‘ 0% Fokk Fokk Hokk Fokk Fokk ‘ 100% | #kx ‘ 100% | 100%  100% | #*x #kk | 94% | kx| 93% ‘ 100% | *x% kK #x¢ | 100% | 100% | **x kK kK kK 0% kK
KM NFERAI dokk Fokk 0% *okk dokk *okk *okk *okk *okk Fokk Fokk *okk *okk *okk sokk *okk *okk *okk *okk *okk *okk *okk *okk *kx | 100% | 100% @ *xk *okk *okk *okk 98% *okk *okk *okk *kx | 100% | 100% % *okk *okk *okk 0% *okk
TOB SErSOP) 0% | ®x  100%| 100%| 0k | kx| 100% | o0k | ook | ook | ek | ek | ek | kek | ke wke | ke | ok | ok | okl | 0% | 0% | 100% | ek | 100% 100% | kx| wkx | 82% | wkk | 89% | wkx | 100% | kx| kxk | 100% | 100% | ek | ek | kx| sk | 0% | vk
905471=3-)L% CP ~05L7T=3-)L | 45% x| 0% | 63% |100% =« | 100%| 50% | 100%|100% 100% 100% 100%  #xx [100% | #x | sk | kx| sk | sxx | 0%  50% x| x| 64% | 86% 100% 100% 69% | #= | 94% 100% =+ |100%| 0% |100% 81%  100% #xx |100%| = | 97% | 100%
BIPM ETPRRL ok w0k | 100% | s ok ok Kok ok Kok ok ok ok ok Kok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok 0k | 100% | ot ok \ 100% | ok ook ok ok ok w0k | 100% | s
DRPM RURRL 100% | *xx | 92% | 100% #xx |100%| 0% |100%  *xx Fokk Fokk Fokk w0k | 100% | kxx Fokk Fokk Fokk Fokk Fokk Fokk Fokk Fokk #xk | 100% | 100% | kx #x¢ | 53% | #xx | 100% 100% | 100% s« #x¢ | 100%  100%| 0% wxk | 100% | #xx | 49% | wkx
AWINRRLFR IPM 1ZRRL/IZRIFY 92% | 100%  98% |100%|100% | 97%  80% 100% 100% 100% 100% 100%|100%|100% | 100% 100% *« |100%|100% 100% 100% 50% | 100% 100% 96%  100%|100%|100% | 68% =t |100%|100% 100% 100%| 0% |100% 100% 6% @ = 100%| * | 71% 100%
MEPM XORRL 100%  100% 97% | 100% 100%|100%  100% 100% 100% 100%|100% 100% 89% |100% 100%|100% 100% #xx | sxx | sxx |100%| 50% 100% 100% 100%|100%|100% 100% 53% 100%|100% | 100% 100% 100% *xx |100% | 100% 10% | 75% @ 77% | 0% | 40% 100%
TBPM TERRL 0% | 100% 50% ok sk sk sk sk sk sk sk ok Kk ok ok Fwk Fowk Kok Fk Kk Fk Fk Fxk Kk *k Kk Fowk i 98% w0k | 100% | kxk w0k | 100% *kx | 100% | 100% s*xx Kk Kk Kk 67% Kk
yoavqovm | CLDM DUIIRADY sk | ek | oo | sk | 100% | 47% | ek | wex | 100%| 100% | 50% | 56% | 33% | 63% | 50% | wkx | ek | kx| ek | sk | ke ek ek | ek | sk | sk 100%| 33% | 22% | 0% | wex | k| x| 0% | ek | sk sk | 0% | 0% | 0% | 0% | 0% | 100%
” LCM vy ok ok ok ok ok 0% ok ook ook ok ook ok ok ok ook ok ook ok ook ok ok ok ook ook ok ok ok ook 0% ok ook ook ok ok ok ook ok ok ok ok ok ok ok
CPFX PP/t ) 0% | # | 80% | 83% | * | 56% 100%| 80% | #xk | sk | kx| kx| wkx | sk | oxk | 100%| e | 100% | 59% | 100% 100% | 100% | 100%  100%  84% | 87% | #xx | xx | 0% | = | 50% | 100%|100% 100% *xx | 98% | 87% | 20% #xx | 100% #xx | 47% | wex
GFLX AFoaxtoy ok ok ok Kok Kok ok ok ok ok ok ok ok ok ok ok ok ook ok ok ook ok Hohk Aotk ok ook *kk *kk w0k | 20% | wx ook ok ok ok w0k | 100% | ot ook ok ok w0k | 100% | s
GRNX HLF/ x5 ‘ 0% *okk ‘ 89% *okk *okk ‘ 100% | *xx ‘ 50% *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk ‘ 100% ‘ 100% ‘ 100% | *xx *okk 59% *okk ‘ 42% *okk *okk ‘ 100% | *xx 91% ‘ 100% | *xx *okk *okk *okk 78% *okk
LFLX Oxzooxtyyy ok ok ok ok ok ok ok ok ook ok ok ok ok ook ok ook ok ok ok ok ok Hokk otk ok ok *kk *kk w0k | 25% | wx ook ok ook ok ok ook ook ok ook ok ok ok ok
LVFX LRoOFoy | 71% 100%| 85% | 83% | 0%  47% 100%  83%  100%|100%| 0% | 56% | 11% | 100%|100%|100% 100% 100% 59% | 100%|100% 100% 100% 100%| 77% | 87% 100% 100% | 33% | 100% | 49% 100% 100% 100%|100% | 98% | 90% | 11%  75% | 88% |100% 61% | 100%
—1—%0v% MFLX EFXvoOoxtrvy sokk sokk sokk sokk kx| 100% | %k sk sk SRk sk sk sk ‘ 100% | %% SRk sk sokk sokk sokk sokk sokk sokk *kk *kk *kk Fkk SRk 24% Kk 25% *kk ‘ 100% | *xx w0k | 100%  100% | *xx sokk Kk ok 44% Kk
- & NFLX JivoaFxFtoy *okk *okk ‘ 100% | **x *okk 50% *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk *okk ‘ 100% ‘ 59% ‘ 100% | *xx *okk *okk *okk ‘ 100% ‘ 100% | *xx *okk 31% *okk 37% *okk *okk *okk ‘ 100% | 100% | 1T00% @ % *okk *okk *okk 75% *okk
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